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NEW

2015
Part II 3-Tier
GEOGRAPHY
PAPER—II
(General)
Full Marks : 90
Time : 3 Hours
The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable. '

fllustrate the answers wherever necessary.

Group—A

Answer any two questions (within 600 words) 15%2

1. Discuss the main concept of Determinism in geographical
studies, Write a short note on Behavioural Geography.
1045

2. Bring out the characteristics of plantation agriculture.
Write a short note on ‘Busket of Fruits’.

1045
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3. Describe the favourable factors for the development of
petro-chemical industry in Haldia. What do you mean by
Urbanisation ? 12+3

4. Describe the factors leading to the development of urban
settlement. Discuss the characteristics of rural settlement.
10+5

Group—B -
Answer any five questions : 8x5

Any one from each number (within 400 words)

5. Define Geography. Discuss the contribution of Ritter in

Geography. 3+35
Or

Bring out the cultural activities and festivals of Indian

Santals. 8

6. Describe the characteristics of Mixed Farming. 8
Or

Discuss the factors leading to the development of great
lake industrial region of U.S.A. 8

7. What are the impacts of migration on rural society"?
8
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Or
Bring out the major problems due to

rapid population
growth in recent India, 8
b

8. Write short note on the cultural regions of the World.

8
Or
Discuss the locational and cultural characteristics of
Eskimo. '
8
9. Differentiate between rural and urban settlement.
8

Or
Discuss the impacts of rapid urbanization on environment.

8

Group—C

Answer any five questions 4x5

Any one from each number (within 100 words)

10. What are the main propositions of Neo-Determinism ?

4
Or

Write a short note on ‘Cosmos’.
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11. Write the basic problems of Under population.

Or

Bring out the trend of population growth in the post
Independent India.

4
12. Write the characteristics of Rurban area.
4
Or
What are the problems of Tea Industry in India?
4
13. What do you mean by culture ?
4
Or
What is Seasonal Migration ?
4
14. What is urban fringe?
4

Or

Define metropolitan city. according to Census of India.
How many metropolitan cities are there in Present India ?
3+1
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